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a. Relationship Marketing (8%}
b. Bounded Rationality (8%)
t. Expectancy Theory (8%)
d. Perception (8%6)
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The GIORDANQ producing extra-size jeans to fit "much fatter than
normal” people’s bedies is an example of an organization in response
to what general economic factor?

A. Technological

B. Social

C. Demographic

D. Competitive

E. None of above.

What is best description for the fundamental difference between
multinational corporations (MNCs) and transnationsl corporations
(TNCs)?

A. MNCs do business with more countries than TNCs

B. MNCs are run by a local, national company

C. Decision-making in TNCs takes place locally rather than from the
parent company.

D. MNCs are restricted more by law more than TNCs,

E. No difference between MNCs and TNCs,
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3.

What argument stresses that the business should not have direct social
policy because of no direct social accountability to the public?

A, lack of broad public support

B. costs

C. lack of accountability

D. dilution of purpose

E. too much power

Being a ration al manager, you are assumed to have complete
information about the decision situation. This assumption is known as?
A. Clear preference

B. Known options

C. Goal orientation

D. Problem clarity

E. Constant preferences

Linda, as a manager in her company, engages in planning in order to

anticipate changes and to develop the most effective response to them.

This is an argument against which of the myths about planning?

A. Planning is a management tool

B. Planniog reduces personality

C. Planning that proves inaccurate is a waste of management

. Planning should only be completed by medium and large size
organizations .

E. Planning can eliminate change

Angel is the beautiful and young CEQ of Easy-Talk
telecommunication company. In order to make strategic decisions, she
intends to group little-Shen celluar photie production group and Linda
switch system group to develop unique missions away from other
business groups of the Easy-Talk company. This move is known as

A. Corporate functional unit

B. Business chain

C. Strategic business unit

D. Planning group

E. Work team

In the TigaByte company, it desires for highly proficient and creative
employees who operated with few work rules. This is an example of
which type of organization?

Organic

Bureaucratic

Volatile

Mechanistic

Nouvelle

mOOws

Which of following is a consequence of an accepfance error in the
selection process?

A. Firing an employee who would have been successful

B. Increased cost of training

C. More candidates have to be screened

D. Potential charges of discrimination

E. cost of selection is increased

Whal is the lasi step in accomplishing organizational cultural change?

A. Initiate a reorganization

B. Introduce new stories and rituals to convey new vision

C. Appoint new leadership with a new vision

D. Make it clear that change 1% necessary to organizational survival

E. Change the selection, socialization, and reward system fo supporl
new values
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10.

12.

13.

14.

David can adapt and adjust hus behavior to external factors. He has
which of following personal iraits?

A. Low authoritarianism

B. High risk-taking

C. Internal locus of control

D. High self-monitoring

E. Low self-esteem

Which of the following is not an input following the equity theory?
A. Experience

B. Effort

C. Education

D. Pay fevel

E. Job tenure

Little- Sheng, as a manager of the telccommunication company, was
forced by his superior, Angel, to sign a material purchase agreement
with Linda Company according 1o the previous month's material
purchase planning. However, the current business situation is not what
Angel saw lagt month. Therefore, Angel has commitied which of
following management error?

A. Fallacy of Formalization

B. Fallacy of Predetermination

C. Fallacy of Detachment

D. Fallacy of Efficiency
E. Fallacy of Authorization

According to Fielder, in which type of situations do relationship-
oriented leaders perform best?

A, Moderately favorable

B. Very favorable

C. Very unfavorable

D. Favorable
E. Unfavorable

David is speaking to you, avoiding shuffling papers or constantly
checking the time. This is an example of what active listening
suggestion?

A. Eye confact

B. Overtalking

C. Smooth transition

D. Paraphrasing

E. Avoiding distracting actions or gesture
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